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1xFFE 1052 #MRFE6THE 1% 15

o|k=FE 10ZE50 BMRFE6THE 2% 85

slx=rx 10 187 #RR6TH 2% =

4| KFFX 42%ih #ERRSTH 1% 85

5| KFFX 52%ih #ERRSTH 108 35

6| KFFX 53%ih #ERRSTH 108 6%

| RFFE 59%ih #ERRSTH 12% 105

8| KFFX 63% 2 #ERRSTH 15% 35

o| k= 86% 1?2 MERESTE 14% 15

10| k=% 95 i MRFESTH 3% 15
1|xzez 1175 ARESTH 10% 85
12| k== 118%th MEESTHE 105 125
13| keez 12882 AmRESTH 9% 105
14| XFFE 138% i AERST B 10% 185
15| x=zrx 157%H#h4 MERESTE 3F 35
16| xEF= 163% 1 1 HEESTE 1% 205
17l k=xx 163% 3 #RRSTH 1% 175
18| k== 201 b #HERSTHE 1% 335
1o| ke 204%#h9 AmREFE4ITHE 12% 125
20| KEFE£ 2642 HEFRATE 10% ns
21| KkEFx 269% i1 HEFRATE 10% 25
2|xzFx 27288 #HEEFE4TE 8% 15
23[xEFE  272Fho #HEEFE4TE 8% 3%
24| k= 272%1h 11 #RR4TH 8% 6%
25| KFEz 272%1h12 #RR4TH 8% 8%
26| KxFFx 272%1h13 #RR4TH 8% 305
27| KFEFE£ 2728015 HEFATE 8% 28%
28| xFEx 272%1h17 #RR4TH 8% 245
29| kFEFx 274% 4 BER4T B 8% 395
30| kEFx 275%h3 HEFATE 8% 38%
stfxzxEx 273%i2 #HEEFE4TE & 15
32| xzEx 298% tth2 #RRITH 24% 15
33| kEFx 2983 HEEITHE 25% 5
| xFErz 298% tth5 #RRITH 26% 15
35| ke 298%1h18 #RRITH 24% 25
36| xFEx 298%1h19 #RRITH 24% 35
37| xE=Ex 298%1h20 #RRITH 24% 45
38| xFEz 298%1h21 #RRITH 24% 5%
30| xF=Ex 298%1h22 #RRITH 24% 65
so|kzxx 298%1h23 #RRITH 24% 5
s|x=zex 298% 24 #RRITH 24% 85
s xk=zxx 298%1h25 #RRITH 24% 95
3| KFFE 298% #1126 #ERR3ITH 24% 105
sl x=zex 298%th27 #RRITH 24% s
45| ke 298%1h28 #RRITH 24% 125
s6|kEex 298%1h29 #RRITH 25% 25
41| x=ex 298%1h30 #RRITH 25% 35
48| kE=ex 298%1h31 #RRITH 25% 45
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49|KFFE 2985 1132 HREITH 25% 55
so| k= 298%1h33 #RRITH 25% 65
51|KFEFE 2985 1134 HREITH 25% 75
52| x=E 298%1h35 #RRITH 25% 85
53|k 298%1h36 #RRITH 25% 95
54| KFF%E 298% #h37 #HERITHE 25% 105
55| KFEFE 29871138 HREITH 25% 15
56| kFE 298%1h39 #RRITH 26% 25
57| KFEFE 298 #7140 HREITH 26% 35
58| KFEFE 2985 Hh41 HREITH 26% 45
59| KFFE 2985 1142 HREITH 26% 55
60| KFFE 2985 1143 HREITH 26% 65
61|KFFE 2985 44 HREITH 26% 75
62| KFFE 2985 1145 HREITH 26% 85
63| KFFE 2985 1146 HREITH 26% 95
64| KFFx 298147 AERITH 26% 105
65| KFFE 2985 1148 HREITH 26% 15
66| KFFE 2985 1149 HREITH 26% 128
67| KFFE 298 #7150 HREITH 26% 138
68| xFFx 298%1h51 #RRITH 26% 145
69| KFFx 298 #152 AERITH 26% 155
10| KFFx 298 #1153 AERITH 26% 165
| KFEFE 2985 #h54 HREITH 26% 178
2| KFFE 298 #155 AERITH 26% 185
13| KFFE 298 #156 AERITH 26% 195
14| KFFE 298% #h57 #HERITHE 26% 205
15| KFFE 298 & #1158 AERITH 26% 215
16| KFFx 298 #159 AERITH 26% 225
TI\KFEFHE 310&#h5 #HERFE3TH 8% 9=
18| KxFEz 310%1h10 #RRITH 1% 15
79| KFEFE 310% 14 HREITH 14% 15
so| x=sx 310%1h18 #RRITH 18% 15
8| x=sz 310%1h20 #RRITH 20% 15
82| k= 310%h21 #RRITH 21% 15
83| x=xx 310%1h28 #RRITH 23% 15
84| KFFHE 310161 #HERE3TH 9% 9=
85| k= 310%1h62 #RRITH 9% 105
86| xFFx 310%1h63 #RRITH 8% 105
8I|KFFHE 310 64 #HERE3THE 8% 115
88| xz=Ex 310%1th67 #RRITH 8% 155
go| k= 310%1th68 #RRITH 8% 165
90| KFFHE 310 #1170 #HERE3TH 1% 8=
N|KFFHE 310 #1171 #HERE3TH & 9=
92| x=rz 310%1h72 #RRITH 1% 105
93| k= 310%1h73 #RRITH 1% s
9| KFFHE 310 #h74 #HERE3THE 1% 125
95| k= 310%1h75 #RRITH 1% 135
96| KxFFx 310%tth77 #RRITH 1% 25
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97| KFFE 310%F 178 #HREIT B MnE 35
98| KFFxE 310%F 79 #HREIT B MnE 45
99| k= 310%1h82 #RRITH 1% 95
100| KFFE 310%F 83 #ERR3ITH RE:S 105
101|XKFFxE 310%F h84 #ERR3ITH RE:S 15
102| KFFxE 31085 #ERR3ITH RE:S 125
103| KFFx 31088 #ERR3ITH 12% 45
104| XFFx 31089 #ERR3ITH 12% 55
105| KFFx% 31090 #ERR3ITH 12% 65
106| KFFE 310191 #ERR3ITH 12% 5
107|XKFFxE 310%F1#h92 #ERR3ITH 12% 85
108| XKFFx 310%F 193 #ERR3ITH 12% 95
109| XFFE 310%F h94 #ERR3ITH 12% 105
10| XKFF=E 310%F 195 #ERR3ITH 12% 15
1| KFFE 310% 1196 #ERR3ITH 12% 135
1M12| KFFxE 310%F 97 #ERR3ITH 12% 145
13| KFF=E 310198 #ERR3ITH 12% 155
14| XKFFxE 310%F1#h99 #ERR3ITH 12% 165
15| KFFE 310& #1100 HRR3THE 12% 175
16| KFFE 310& 101 HRR3THE 12% 185
M| XKFFxE 310% 102 #ERR3ITH 12% 195
18| KFFx 310% 104 #ERR3ITH 14% 25
19| KFF=E 310& #1105 #ERR3ITH 14% 35
120| KFFE 310& 106 #ERR3ITH 14% 45
121|KFFx 310& 107 #ERRITH 14% 55
122| KFFE 310&Hh114 #ERRITH 14% 135
123| KFF=E 310&H 115 #ERR3ITH 14% 145
124| KFFxE 310&Hh116 #ERR3ITH 14% 155
125| KFFE 310&H117 #ERR3ITH 14% 165
126| KFFE 310&Hh118 #ERR3ITH 14% 175
127|KFF=% 310& 119 #ERR3ITH 14% 185
128| KFF=E 310% 120 #ERR3ITH 14% 195
129| KFFE 310%Hh 121 #ERR3ITH 14% 205
130| KFF% 310% 122 #ERR3ITH 14% 215
131|KFFx 310&Hh124 #ERR3ITH 18% 25
132| KFFHE 310& 125 #HERR3THE 18% 35
133| KFFHE 310% 126 #HERR3THE 18% 42
134| KFFHE 310& 127 #HHRR3THE 18% 58
135| KFFE 310% 128 HRR3THE 18% 65
136| KFFE 310% 129 HRR3THE 18% =
137|XKFFx 310% #1130 #ERR3ITH 18% 85
138| KFF=% 310% 1131 #ERR3ITH 18% 95
139| KFFE 310% 132 #HERR3THE 20% 25
140| KFFE 310% 133 #ERR3ITH 20% 35
141|KFFxE 310% 134 #ERR3ITH 20% 45
142| KFFE 310% 135 #HHRR3THE 20% 58
143| KFFHE 310% 136 #HERR3THE 20% 65
144| KFFHE 310& #1137 #HERR3THE 20% =
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145| KFFE 310% 1138 HRR3THE 20% 8s
146| KFFE 310% 139 HRR3THE 20% 95
147|KFFHE 310&Hh 141 HRR3THE 20% 15
148| KFF% 310&Hh142 #ERR3ITH 20% 128
149| KFFE 310% 143 #ERR3ITH 20% 138
150| XFF% 310%Hh144 #ERR3ITH 20% 145
151| KFFx 310& 145 #ERR3ITH 1% 25
152| KFFE 310% 146 HRR3THE 1% 35
153| KFFE 310& 147 HERR3TH 21% 45
154| KFFE 310%Hh148 HERR3TH 1% 58
155| KFFE 310% 149 HERR3TH 1% 65
156| KFFE 310& 150 HERR3TH 21% 5
157| KFFE 310& 151 HERR3TH 21% 85
158| KFFE 310% 152 HERR3TH 1% 95
159| KFF=% 310% 153 #ERR3ITH 1% 105
160| XFF% 310% 154 #ERR3ITH 1% 15
161| XKFFx 310& 155 #ERR3ITH 1% 125
162| KFFE 310% 159 HRR3THE 23% 25
163| KFFE 310% 160 HRR3THE 23% 35
164| KFFE 310& 161 HRR3THE 23% 42
165| KFFE 310% 162 HRR3THE 23% 58
166| KFFx 310% 163 HRR3THE 23% 65
167| KFFE 310&Hh164 HRR3THE 23% =
168| KFFE 310% 165 HRR3THE 23% 8s
169| KFFE 310% 166 HERR3TH 23% 95
170| KFF=% 310& 167 #ERRITH 23% 105
1| XFFE 310% 168 #ERR3ITH 23% 15
172| KFFE 310% 169 #HERR3THE 23% 128
173| KFF=E 333% 18 #ERR3ITH 15% 15
174| XFF=% 333Fh19 #ERR3ITH 28% 15
175| KFFE 333F 22 #ERR3ITH 178 15
176| XFF=% 333F 29 #ERR3ITH 19% 15
17| XFFx 333%F 135 #ERR3ITH 27% 15
178| KFF=E 333% a1 #ERR3ITH 29% 15
179| XKFF=% 333F 87 #ERR3ITH 15% 25
180| KFF% 333188 #ERR3ITH 15% 35
181| KFFx 333%F 89 #ERR3ITH 15% 45
182| KFFx% 333%F 1190 #ERR3ITH 15% 55
183| KFFx 333%#ho1 #ERR3ITH 15% 65
184| KFFx 333%Fh92 #ERR3ITH 15% 5
185| KFFx% 333%Fth94 #ERR3ITH 15% 85
186| KFF% 333%F1h95 #ERR3ITH 15% 95
187|KFFx 333%F1h96 #ERR3ITH 15% 105
188| KFFx% 333F 97 #ERR3ITH 15% 15
189| KFF% 333%F1h98 #ERR3ITH 15% 125
190| XKFFx% 333%F 1199 #ERR3ITH 28% 25
191|KFFE 333% 100 #HERR3THE 28% 35
192| KFFE 333% 101 #HERR3THE 28% 42

4/11 R=



ERRTHIBXER (IB—FD

(xE]
COT—RF EERAEEAREOEREFOABICEHEIN TV ERICH T 2ERRIEREROERRRESEAREL:
LOT, THOFEM (MEF) [CHBLEERRTESTEIHYFEE A

e &M
HX *E
F4 Fith BT 4 5 ES e
(%) €=))

193| KFFHE 333% 102 HRR3THE 28% 58
194| KFFE 333% 103 HRR3THE 178 25
195| KFFE 333% 104 HRR3THE 178 35
196| KFFE 333% 1105 HRR3THE 178 42
197| KFFE 333% 1106 HRR3THE 178 58
198| KFFE 333% 1108 HRR3THE 198 25
199| KFFE 333% 1109 HRR3THE 198 35
200| KFF £ 333F 110 #ERR3ITH 19% 45
201|KFFE 333&F 111 #ERRITH 19% 55
202)| KFFE 333%F 112 HERR3TH 198 65
203| KFFE 333%F 113 HERR3TH 198 =
204| KFFE 333%F 114 HERR3TH 198 8s
205| KFFE 333&F 115 HERR3TH 198 95
206| KFF £ 333% 116 #ERRITH 198 108
207| KFFE 333F 117 #ERR3ITH 198 1"Me
208| KFFE 333% 118 HRR3THE 198 128
209| KFFE 333%F 119 HRR3THE 27% 25
210| KFFE 333%F 120 HRR3THE 27% 35
21| KFFE 333% 121 HRR3THE 27% 42
212| KRFFE 333%F 122 #ERR3ITH 27% 58
213| KFFE 333% 123 #ERR3ITH 27% 65
214| KFFE 333%h124 #ERR3ITH 27% =
215| KFFE 333% 125 #ERR3ITH 27% 8s
216 KFFE 333% 1126 #ERR3ITH 27% 95
217|KRFFE 333%F 127 #ERRITH 27% 108
218| KFFE 333%ih128 #ERRITH 27% 1"Me
219| KFFE 333% 129 #ERR3ITH 27% 128
220| KFFE 333%F 130 #HERR3THE 27% 138
21| KFFE 333% 1131 #HERR3THE 29% 25
222| KFFE 333% 132 #ERR3ITH 29% 35
223| KFFE 358%ih #ERR3ITH 29% 55
224| KFF £ 359 ih 1 #RR4THE KE 25
225| KFFE 359% 12 #RR4THE KE 15
226| KFF £ 365% 13 #RR4THE KE 185
227|KFFE 366% 12 #RR4THE KE 165
228| KFF £ 379%ih #ERR4THE 1% 105
229| KFFE 380 ih 1 #RR4THE 1% 85
230| KFF £ 385%ih #ERR4THE 2% 105
231|KFFE 386%ih #ERR4THE 2% 15
232| KFFE 387&ih #ERR4THE 2% 125
233| KFFE 396%Fith #ERR4THE 1% 15
234| KFFE 398% 12 #ERR3ITH 16%& 15
235| KFF £ 39837 #ERR3ITH 16% 25
236| KFF £ 398138 #ERR3ITH 16% 45
237|KFFE 39839 #ERR3ITH 16% 5
238| KFF % 39840 #ERR3ITH 16% 65
239| KFFE 402 Hh 1 #RR2TH 12% 15 HRFERES
240| KFFHE 4021 #RR2TH 12% 25 iR FIRX S
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20| KFFR 408 i ARE2TH 1% 1285 TXRT—FEHA
22| KFFE 410% it #ERR2TH RE:S 125 TXT—rEH
243| KFFE 4115t #ERR2TH RE:S 15
244| KFFE 412% 2 #RR2TH 108 265
245| KFF £ 412% 7 #RR2TH RE:S 225
246| KFF £ 412% 8 #RR2TH RE:S 215
247 KFFE 415% 3 #RR2TH 10%& 228
248| KFF £ 416% 2 #RR2TH 105 5
209| KFFE 419% 9 #RR2TH 108 15
250 KFF £ 41912 #RR2TH 108 35
251| KFFE 420% 3 #ERRITH 108 15
252| KFF £ 420% 18 #ERRITH 8% 125
253| KFFE 420% 13 #ERR3ITH 13% 15
254| KFF £ 420%F th14 #ERR3ITH 13% 25
255| KFFE 420% 17 #ERR3ITH 14% 65
256| KFF £ 420% 123 #ERR3ITH 22% 195
257| KFFE 420 128 #ERR3ITH 102 25
258| KFF £ 4201130 #ERR3ITH 8% 135
259| KFF £ 420131 #ERR3ITH 8% 145
260| KFF £ 420% 133 #ERR3ITH RE:S 55
261|KFFE 420%F 1h34 #ERR3ITH RE:S 65
262| KFF £ 420 135 #ERR3ITH RE:S 5
263| KFFE 420 1136 #ERR3ITH RES 85
264| KFFE 420138 #ERR3ITH 12% 125
265| KFF £ 420 th41 #ERR3ITH 14% 5
266| KFF £ 420 1h42 #ERR3ITH 14% 85
267| KFFE 420% 1h43 #ERR3ITH 14% 95
268| KFF £ 420%F tha4 #ERR3ITH 14% 105
269| KFF £ 420 th45 #ERR3ITH 14% 15
270| KFF £ 420 1h46 #ERR3ITH 14% 125
27| KFFE 420 149 #ERR3ITH 1% 165
272| KFFE 420150 #ERR3ITH 1% 155
273| KFFE 4201151 #ERR3ITH 1% 145
274| KFF % 420 152 #ERR3ITH 1% 138
275| KFF £ 4201160 #ERR3ITH 22% 185
276 KFF £ 420161 #ERR3ITH 22% 175
27| KRFFE 420 162 #ERR3ITH 22% 165
278| KFF £ 4201163 #ERR3ITH 22% 155
279| KFF £ 420% 1h64 #ERR3ITH 22% 145
280| KFF £ 4207 165 #ERR3ITH 22% 135
281|KFFE 420 1166 #ERR3ITH 22% 125
282| KFFE 420167 #ERR3ITH 22% 15
283| KFFE 4207 168 #ERR3ITH 22% 105
284| KFFE 4201169 #ERR3ITH 22% 95
285| KFF £ 420170 #ERR3ITH 22% 85
286| KFF £ 420t 71 #ERR3ITH 22% 5
287| KFFE 420172 #ERR3ITH 22% 65
288| KFF £ 420% 173 #ERR3ITH 22% 55
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289| KFF £ 420 h74 #ERR3ITH 22% 45
290| KFF £ 420% 75 #ERR3ITH 22% 35
291|KFFE 420176 #ERR3ITH 22% 25
292| KFFE 420177 #ERR3ITH 22% 15
293| KFF £ 436% 4 #ERR3ITH 12% 215
294| KFFE 2705% ih #ERITH 1% 35
295| KFFE 2706 %1086 #RFE1THE 1% 5
296| KFFE 2706% 1087 #RFE1THE 1% 85
297|KFFE 2727% 1 #ERITH 2% 85
298| KFF £ 2728%F1h3 #ERITH 2% 135
299| KFF £ 2728 h5 #ERITH 2% 115
300| KFF £ 2734% 1 #ERITH 2% 325
301|KFFE 273413 #ERITH 2% 335
302)| KFFE 2735% ih #ERITH 3F 15
303| KFFE 2735% 1 #ERITH 2% 55
304| KFFE 2736% i1 #ERITH 2% 15
305| KFF £ 2739 th2 #RR2TH 1% 265
306| KFFE 27413 #RR2TH 1% 165
07| KFFE 27413 #RR2TH 1% 195
308| KFFE 2741 h6 #RR2TH 1% 205
309| KFFE 2744% 1 #RR2TH 1% 85
310| KFFE 27443 #RR2TH 1% 5
11| KFFE 27445 #RR2TH 1% 35
312| KFFE 27449 #RR2TH 1% 65
33| KFFE 2744F 010 #RRE2T B 1% 55
314|KFFE 274813 #RR2TH 1% 25
315| KFFE 2748%F th4 #RR2TH 1% 15
316 KFF % 2749% 3 HERR3THE 1% 58 7 IL— LIRS IR
17| KRFFE 2749% 015 #ERR3ITH 4% 15
318| KFFE 2749% 019 #ERR3ITH 9% 15
39| KFFE 2749% 21 #HERR3TH 8% 15
320| KFF £ 2749%#h23 #ERR3ITH & 15
321|KFFE 2749% 029 #ERR3ITH 12% 15
322| KFFE 2749% 032 #ERR3ITH 5% 15
323| KFFE 2749% #0140 #ERR3ITH 2% 105
324| KFFE 2749% 042 #ERR3ITH 2% 165
325| KFF £ 2749% 043 #ERR3ITH 2% 185
326| KFF £ 2749% Hh44 #ERR3ITH 2% 205
327|KFFE 2749% 045 #ERR3ITH 4% 25
328| KFF £ 2749% 046 #ERR3ITH 4% 35
329| KFF £ 2749% 047 #ERR3ITH 4% 45
330| KFFE 2749% 048 #ERR3ITH 4% 55
33| KFFE 2749% 1049 #ERR3ITH 4% 65
32| KFFE 2749 150 #HERR3TH 4% 5
3| KFFE 2749% 51 #HERR3TH 4% 85
334 | KFFE 2749% 052 #ERR3ITH 4% 95
335| KFFE 2749% 053 #ERR3ITH 4% 105
336| KFF £ 2749% 055 #ERR3ITH 9% 25
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337|KFFE 2749% 056 #ERR3ITH 9% 35
338| KFFE 2749% 057 #ERR3ITH 9% 45
339| KFFE 2749% 058 #ERR3ITH 9% 55
340| KFF £ 2749% 059 #ERR3ITH 9% 65
41| KFFE 2749% #1160 #ERR3ITH 9% 5
32| KFFE 2749% 61 #HERR3TH 9% 85
343| KFFE 2749% 163 #ERR3ITH 9% 1"Me
344 | KFFE 2749% 064 #ERR3ITH 9% 125
345| KFF £ 2749% 065 #ERR3ITH 9% 135
346| KFF £ 2749% 1066 #ERR3ITH 9% 145
347|KFFE 2749% 67 #ERR3ITH 9% 155
348| KFF £ 2749% 168 #ERR3ITH 9% 165
349| KFF £ 2749% 1069 #ERR3ITH 8% 25
350| KFF £ 2749% #1170 #ERR3ITH 8% 35
351| KFFE 274971 #ERR3ITH 8% 45
352| KFFE 2749% 072 #ERR3ITH 8% 55
353| KFFE 2749% 073 #ERR3ITH 8% 65
354| KFF%E 2749% 74 #ERR3ITH 8% 5
355| KFFE 2749% 075 #ERR3ITH 8% 85
356| KFF £ 2749% 078 #ERR3ITH 8% 175
357| KFFE 2749% 079 #ERR3ITH 8% 185
358| KFF £ 2749% 180 #ERR3ITH 8% 195
359| KFFE 2749 181 #ERR3ITH 8% 205
360| KFF £ 2749% 082 #ERR3ITH 8% 215
361| KFFE 2749% 1083 #ERR3ITH 8% 225
362| KFFE 2749% 084 #ERR3ITH 8% 235
363| KFFE 2749% 1085 #ERR3ITH 8% 245
364| KFFE 2749% 1086 #ERR3ITH & 25
365| KFF £ 2749% 087 #ERR3ITH & 35
366| KFF £ 2749% 1088 #ERR3ITH & 45
367| KFFE 2749% 1089 #ERR3ITH & 55
368| KFFE 2749% #1190 #HERR3TH & 65
369| KFFE 2749F 91 #HERR3TH & 5
370| KFF % 2749% 1093 #ERR3ITH & 145
37| KFFE 2749% #0194 #ERR3ITH & 155
372| KFFE 2749% 095 #ERR3ITH & 165
373| KFFE 2749% 1096 #ERR3ITH & 175
374|KFFE 2749% 97 #ERR3ITH & 185
375| KFFE 2749% 1098 #ERR3ITH & 195
376| KFF £ 2749% 1099 #ERR3ITH & 205
37| KFFE 27493100 HRR3THE 6% 25
318| KFFE 2749101 HRR3THE 6% 35
379| KFFE 274911102 #ERR3ITH 6% 45
380| KFF £ 274911103 #ERR3ITH 6% 55
381|KFFE 274911104 #ERR3ITH 6% 65
382| KFFE 274911105 #ERR3ITH 6% 5
383| KFFE 274911106 #ERR3ITH 6% 85
384| KFFE 27497107 #ERR3ITH 6% 95
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385| KFFE 274911108 #ERR3ITH 6% 105
386| KFF £ 274911109 #ERR3ITH 6% 15
387|KFFE 27491110 #ERR3ITH 6% 125
388| KFF £ 2749111 #ERR3ITH 6% 135
389| KFFE 2749112 #ERR3ITH 6% 145
390| KFF £ 2749F #1113 #ERR3ITH 6% 155
391|KFFE 2749114 #ERR3ITH 6% 165
392| KFFE 2749F 115 #ERR3ITH 6% 175
393| KFFE 27491116 #ERRITH 6% 185
394| KFFE 2749117 #ERRITH 6% 198
395| KFF £ 27491118 #ERRITH 12% 25
396| KFF £ 2749119 #ERRITH 12% 35
397|KFFE 27497121 #ERRITH 12% 205
398| KFF £ 2749122 #ERRITH 5% 25
399| KFF £ 2749% #1123 #ERR3ITH 5% 35
400| KFF £ 2749124 #ERR3ITH 5% 45
401|KFFE 27491125 #ERR3ITH 5% 55
402| KFFE 27491126 #ERR3ITH 5% 65
403| KFFE 2749127 #ERR3ITH 5% A=
404| KFFE 274971128 #ERR3ITH 5% 85
405| KFF £ 2749 #1129 #ERR3ITH 5% 95
406| KFF £ 274911130 #ERR3ITH 5% 108
407| KFFE 27491132 #ERR3ITH 1% 15
408| KFF £ 27491134 #ERR3ITH 2% 175
409| KFFE 27508 tth2 #RR2TH 1% 145
410| KFFE 27508 tth5 #ERR3ITH 1% 155
M| KFFE 27508 tth6 #ERR3ITH 1% 185
42| KFFE 27508 tth7 #ERR3ITH 1% 235
43| KFFE 27508 1th8 #ERR3ITH 1% 225
MNA|KFFE 2750% 1110 #HERR3TH 1% 85
415| KFFE 2750% 11 #HERR3TH 1% 105
416 KFFE 2750% 1012 #ERR3ITH 1% 15
NI\ KFFE 2750% 1013 #HERR3TH 2% 15
418 KFFE 2750% 014 #ERR3ITH 2% 25
M| KFFE 2750% 1015 #ERR3ITH 2% 35
420| KFF £ 2750% 1016 #ERR3ITH 2% 55
21| KFFE 2750% 017 #ERR3ITH 2% 65
422| KFFE 2750% 1018 #ERR3ITH 2% 5
423| KFFE 2750% 1019 #ERR3ITH 2% 85
24| KFFE 276713 #RR2TH 9% 55
425| KFF £ 2767 th6 #RR2TH 9% 35
426]| KFF £ 2768% 1 #RR2TH 105 145
427|KFFE 2769 tth2 #RR2TH 105 215
428| KFFE 2771 % #RR2TH & 105
429| KFFE 277185 #RR2TH 1% 205
430| KFFE 2774% #RR2TH & 35
3| KFFE 2776% i #RR2TH 6% 195
432| KFFE 2781 th4 #RR2TH 4% 65
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444
445
446
447
448
449
450
451
452
453
454
455
456
457
458
459
460
461
462
463
464
465
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467
468
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471
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474
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477
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KFFE 2783%Fth3 #ERITH 3% 218
KFFE 2783% 116 #ERITH 3% 208
KFFE 2783% 1022 #RR2TH 25 128
KFFE 2784 % 1 #ERITH 5% 308
KFFE 2795% 1 #ERITH 3% 145
KFFE 2797% ih #ERITH 4% 255
KFFE 2798% ih #ERITH 2% 155
KFFE 2798 % ih #ERITH 4% 265
KFFE 2799% ih #ERITH 4% 215
KFFE 28007 ih #ERITH 5% 55
KFFE 2801 % ih #ERITH 5% 105
KFFE 2804 ih #ERITH 5% 125
KFFE 2805% i 1 #ERITH 5% 138
KFFE 2805%1th3 #ERITH 5% 158
RFFE 2807% i1 #HREFE1TH 1% 5%
KFFE 2808 % ih #ERITH & 15
KFFE 2809 ih #ERITH & 165
KFFE 2810% i1 #ERITH 4% 198
KFFE 28108 th2 #ERITH 4% 188
KFFE 2810 th5 #ERITH 4% 85
KFFE 2811%ih #ERITH 4% 165
KFFE 2813%th2 #ERITH % 34
KFFE 281413 #ERITH % 328
KFFE 28145 #ERITH 1% 475
KFFE 2814 1th6 #ERITH % 508
KFFE 281457 #ERITH 1% 485
RFFE 2815% i1 #HREFE1TH 1% 455
RFFE 2815%ih7 #HREFE1TH 1% 435
KFFE 2816 ih #ERITH 8% 215
KFFE 2816 ih #ERITH 8% 225
KFFE 2818%1th3 #ERITH 8% 208
KFFE 2818%Fth4 #ERITH 8% 188
KFFE 2818%th5 #ERITH 8% 178
KFFE 2818 th6 #ERITH 8% 168
KFFE 28187 #ERITH 8% 158
KFFE 2818%1th8 #ERITH 8% 145
KFFE 2818%1th9 #ERITH 8% 138
KFFE 2818% 10 #ERITH 8% 1M1E
RFFE 2820% i1 #HREFE1TH 8% 65
RFFE 2820% 16 #HREFE1TH 8% 5%
RFFE 2822F 10 #HEEFE1TH 8% 15
RFFE 2825% i1 #ERE1TH 6% 35
KFFE 2833% ih #ERITH & 35
KFFE 2836 ih #ERITH 5% 185
KFFE 2857 ih #RR2TH 5% 15
KFFE 2863% ih #RR2TH 6% 435
KFFE 2864% ih #RR2TH 6% 405
KFFE 2866 i #RR2TH 6% 375
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481|KFFE 28663 1th3 #RR2TH 6% 335
482| KFFE 2867% ih #RR2TH GES 325
483| KFF £ 2868 th4 #RR2TH 6% 205
484| KFFE 2868 1th6 #RR2TH 6% 65
485| KFF £ 2868 th7 #RR2TH 6% 35
486| KFF £ 2871%th #RR2TH GES 155
487| KFFE 2872%F th4 #RR2TH 6% 85
488| KFFE 2876 ih #RR2TH GES 15
489| KFFE 2878% 1h 1 #RE2T B 5% 298 E—FEILXFE
490| KFF £ 2880 th4 #RR2TH 5% 215
91| KFFE 2880 tth5 #RR2TH 5% 265
492| KFF £ 2880 th6 #RR2TH 5% 25%
493| KFFE 2883% i #RR2TH 5% 175
494| KFFE 2886% i1 #RR2TH 5% 145
495| KFF £ 2892% i1 #ERITH 6% 175
496| KFF £ 2892 tth?2 #ERITH 6% 115
497| KFFE 2893 1th6 #ERITH 9% 215
498| KFF £ 2894 1h3 #ERITH 9% 285
499| KFFE 2894 th5 #ERITH 6% 5
500 KFF £ 2895% i 1 #ERITH 6% 65
501| KFFE 2895%1th3 #ERITH 6% 55
502| KFF £ 2898 ith?2 #ERITH 9% 55
503| KFF £ 2898 th4 #ERITH 9% 35
504| KFF £ 2898 th5 #ERITH 9% 15
505| KFF £ 2898 1th6 #ERITH 9% 135
506| KFF £ 2898 th7 #ERITH 9% 125
507| KFFE 2898 th9 #ERITH 9% 115
508| KFFE 2898 %10 #HRFE1THE 9% 105
509| KFF £ 2959% i1 #ERITH 4% 55
510| KFF £ 2959 th4 #ERITH 4% 65
511 KFFE 2959 tth5 #ERITH 4% 5
512| KFFE 2959 th7 #ERITH 4% 105
513| KFFE 2964 %1 #ERITH 4% 35
514| KFFE 2964 th4 #ERRITH 4% 15
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